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5. Abank operates both a drive-up facility and a walk-up window. On a randomly
selected day, let X=the proportion of time that the drive-up facility is in use(at
least one customer is being served or waiting to be served) and Y=the proportion
of time that the walk-up window is in use. Suppose the joint pdf of (X, Y) is given
by

f(x,y)=§(x+y2) 0<x<l, Oéysl
0 otherwise

Find  (2) P(¥<0.5 X=08) (15%)

(b) E(¥Y| X=0.8) (10%)

6. The time that it takes to serve a customer at the cash register in a mini-market is a
random variable having an exponential distribution with parameter 4. Suppose Xi
and X are service times for two different customers, assumed independent of
each other. Consider the total service time To=X1+Xz for the two customers.

Find the pdf of To, Jo, (). (15%)
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P(Z 21.645)=0.05 P(Z 21.96)=0.025




